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IMPORTANT INSTRUCTIONS
Thia Booklet has a cover { this'page | which should not be'apened till the invigilator glves signal
1o open 1L at the commencement of the éxamination. As spon as the signal s cecelved vou shouid
tear the right side of the booklet cover carefully/lo open the booklet.%Fhen proceed to answer the
questions. _
This Question Booklet containg 300 questions,
Answer all questions. All questions carry equal marks,

The Test Booklet is printed infour serles e Ii—l !;E] @ or l ll] [ See Tophleft side of thia
page ). The candidate has-to indicate Lo the space provided in the Answer Stest the series of the
booklet, For example, {f the candidate gets | A | serles Booklet, hio/she has (o indicate in the
side 2 of the Answer Sheet with Blue or Black Ink Ball polnt pen as follows

[A] B (B1LCY D]

You musat write your Register Number in the space provided on the tep right side ol thig page. Lo
not write anything else on the Question Boalklet

An Answet Sheet will be supplied to you separately by, the Invigilator to mark the answers. You
must writeyour Name. Register No. and othér particulars on side 1 of thesAnswer Sheet
provided, failing which your Answer Sheet will not be evatuated.

You will else cncode your Reglster Number, Subjeet Code ete,, with Blue ur Blagk ink Ball point
pen in the space provided on theside 2 of the Answer Sheet. If you do not encode properly ar fall
to eneode the gbove Information, your Answer Sheet will not be evaluated.

Each question comprises four responses (A, (B); (C) and (D}, Yon are o select. ONLY ONE correct
responge angd mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best, In any cade, choose ONLY ONE
responsa for each-question. Your total marks will depend on the number-of coméct responses
marked byyou in the Answer Sheet.

In the Answer Sheet there are four brackeis [A]1 B ][ C ] and)[ B | againsteach question, To
answer the questions you are to mark with Ball peint pen ONLY ONE bracket of your choice for
each question, Select onie‘response for each question in the Quesiion Booklet and mark in the
Anawer Sheet. If vou mark miore than ope answer for one guestion, the answer will be treated as
wrong. e.g. If for any item, (B] Is-the carreet answer, you have to mark as follows

[A] @ (CTID]

You should not remove or tear off any shest from this Question Booklet. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination is concluded. you must hand over your Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with you only after the Examination Is
OVET.

The sheet before the last page of the Question Booklet ean be used for Reugh Wark,

Failure to comply with any of the above mstructions will render you liable to such action or
penalty as the Commmission may decide at thzir discretion.

In all matters and in cases of doubt, the English Version is final.

Do not tek-mark or mark the answers in the Question Hooklet.
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1. delldsneflet(Silicon) flewres blar sL_smb seawnse@s srroomn
A) oEgieolw Grry Bldagel Callu geammah
B) spamcw adli Hasor Canw gensb
C) eaEn 6LH G Gleusfl
D) . epdu &’ @ Gl et
Semiconducting property of silicon is due to
A) ils positive temperature coclliclent of resistance
13) its negativetemperature ceeflicient of resistance
C)  wide band gap
D)  narrow band gap.
2. @tw @m’l‘i Lielemmer ek BigmL s 4l Gmyib
A) [ 45 fhdle B) S8hHdb
C)l (Afdis : D) 2 Fhfliin.
Light fram the sun reaches the garth in
A)]  4bminute Bl B minute
Q) dominute D) 2minute.
3. &8y Lerpsalu’@etereamsala sa e Bursdlen (Electric heaters)
Gevdifl Gl gligyt (Irons) vwsFLEdng 1
A) A B  ecei
C) " gmbigih D) en&Gomis.
Which of the {ollowing is used in electric heaters and irons ?
A)  Tungstes By Stegl
) Copper D) \ Nichrome.
4. &Qp Qer@dsiulBerer 2 UsTemsfle Gam, @ epmild Qsagib Bl
Caisgeng Serall 2 gadinge
Al Guosellwr el B]  syuwsswre
Cl e sEall D] Gleugysfl B,
Which one of the [ollowing instruments is used lo measure the speed ol water
through a pipe 7
Al McLeod gauge B Pressure gauge
) Screw gauge D) Venturimeter .
% [ Turn over
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5. mlegdpussilda giob, ahs SesTe SferailtuBHpg 1

A EGemfirf (Fhf) Bl  sudsulgrid(A) sie@
€l gpeflwresoG(Light year) D) gler ST,

The distance of stars is measured by the unit

A)  kilometre (km) B] angstrom (A) unit
C)  light year D) giga metre .

6. sridue Genedrens(Theory'of relativity) SG @GTHasULCL G SN LY
1905- v Gl Héamait’ L g

Al et Gt B). (gnibmen

C) ol D). meteuisdd.

Theory of relativily was proposed By which one gl the following selentsts in the
year/19085/?

A) Rutherford B)  Thomson

C) “Bohr D) - Einstein .

7.  seurdahild sewhseien BT g &4 Hlenaupd, semitom 2 aaue
2 LGUTHILABSLUBED &sfioure (Moderator)

A) @i (H0) B) | dlipnasul

Q) smenpit (D30} D) e mepdidens.

The moderator iséd in the nuelear reacior at Madras atomic power Station in
Kalpakkam s :

a)  water(Hy0) B)  graphite

€) heavy water (D;0) D) nont of these .

8. GruGur smius Guhensild @deirn) a,r:r‘;u_gé'lu_:rr:ﬂggﬁ ?
A arrusgien UV adise afmauflagrd
B) eartugu & IRGgliser allevemuflalzia
O  glbldlgeien somlraea e sreels 5l a1 afleanyfleugme
D) &nfrugiL e X sditsst ellenan fleugre .
Radio carbon in nature is produced as a result of
A)  the action of UV rays on ordinary earbon
B) the action of IR rays on erdinary carbon
€]  the action of cosmic rays an earth’s atmospheric nitrogen

D)  the action of X-rays on ordinary carizon .

X r[ 701
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9.  @dlflsn Geuan Gy Qarasiu Garer on wmmagds Sflaib
Al dlneuksser
‘Bj & \comTiorig e
C) ELIIT Iy e et
D)  edenanglan Casb 9@ wrdlflure Glmbmio _
The speed of sound is higher in which one of the following mediums 9
Al Liguids B) Solids
C) Gascs P) ) Sameinall’
10, 8Gpueten abs’ onbpa-Shgmden Seaenn (Fisstar) siydles. seibem (&) aor Lo
(Fuston) flafpeysoflcn ibls o @b Glaeflivn &1 et nimh, e ol
Al (Em._.ig'l' 2L Hne-Cloutd St suiray TpEe:
B Byrelr@sen Bl et enn 5 O U
C) [T wdd i ommymes - meieie ofla eDnaly’ LM e Lig
D) [ @bl o 64 (Mechanical enepfy) Gie s madlin S(Hent enerdy)-wngy s,
The huge amountief énerfy released in’' fuelear 4sion and fusion reactions s
due to the canversion of
A) | chemieal energy Into heal energly
E) protons into netlrons
Cl mass4dnio energy. «weording fe Einsi#in's c4| L aldon
D) mechanieal energy inio heat enerpy .
11.  Gamiruramh
Al mOdlevsuwir g Bl @wilet deng_g
C) SITT 35607 s e sl 5y Dj .%ﬂa-&-.;ﬁi:;it-n 2 ity
Drinking soda is
Al neuiral B] ampheteric
C) basic D) acidic.
12, dppyss saedls sramivfeaus aa7
Al aBureflub oy &enGa’ B] esrddluh sideuGeun
C) Qurl L mdwio 24 &ouan D)  Gergqubd suéenGal.
Which of the following is found in kidney stane ?
A) Ammonium oxalate B) Caleinm oxalate
C) Potassium oxalate D)  Sodium oxalale .
x« 701 [ Turn over
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13, dipsetmeuppeh Sy QI EU PHGID Uy TR

A srtue CurBemsasd B) amiudt e K5oed
C)  empLiyev R TLIC D) sdut oL &80
Which of the following is a laughing gas ?

A)  Carbon monoxide B) Carbon dioxide

C) Nitrous oxide D) Sulphur dioxdide .

14. @iy srrorerseer Guéy gIBEDTH0 Bﬂrmsj

)  sreeusarGeaye B), Nledr wos

C)  dblen & gl fliy DY d SR
Coating of zinc over ron article Is known as

A) (zalvanisation B Electroplating
C) | Electrorefining D) Etching.

15. e b 2Gumgen EremLIg
A 3Bumge
B)  oGumggsn G umd
Q) SBurgg QuriLrfuis Gurew
D) 2GwrLum.

Tincture of iodine is
A) ledine B) lodine and iodoform
C) lodine’and potassium iodide P} ledoform .

16. uyspde siee cuflos
Al Gurges > Ll &6 > 218 B oplat sps Curéas > yf1é)
C) @loL i > SMé > Qurdas D)y Quréens > SM& > plel sb.
The protein contentis of the order

4] soyabean > egg yolk > rice B egg volk > soyabean > rice

C) egg yolk » rice > soyabean D) soyabean > rice > €£8 yolk .
17. &Gy @ﬁﬂﬁhﬁ.@ﬂ"lmcutj}@mﬁ shiural QurEhsh S0

A) Slreu ghisd - gl

B) #yeu Ceuehaf — Glotd @

c) Eprg SyTasb — Cleueirefil

D) u&emd Gleusiref — gt

www.mntfreeias.com
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Which one of the following is correctly matchied ?

A)
B)
C)
D)

Liquid gold
Liquid silver

Aqua regia

Green silver

Lead

Mercury
Silver

Copper .

18. &Gy @i Gerereutmpet sflurs Clurhbaib G

A)
B}
C)
D)

mif)
SRELITD
Ememul®

DGDHWWFHGﬁT

f——

whe Hlenaw &
bler sl &)
Sitlgip &6 4

SETUID HEETEIOLET 6T & milielr,

Which one of the following is correctly matched ?

A)
B)
G
D)

LCharcpal

Diamond
Graphite
Fullerene

Inactive carban
Condnetor
Insulator

Soluble form of carbon .

19, ulgwé I @ ulguée ITeich Curpa £l ECp Qar@asiiu Qerver @i Gsmens:
Lardn® sflurer elalamug Carph Qs

uigueés I

a) Gl GI_ufr erdley
b dlye esgnirgen
¢ oalrmer Gurioap
d) smiue en 2 Seeny
GPldRes

a b ] d
A) 2 1 e 4
B) 1 3 2 4
C} 2 4 3 1
D) 2 3 4 1.

:t!'?«t,'llJ

3

4)

Liogwé IT
E-uain GleudnnTge
agit srde sy
pr&EQsl aflGurmer

Qeugns@n arrem)
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Match List I with List II correctly and select your answer using the codes given
below :
List I List II

a] Lead tetraethyl 1, Global warming
b) Liguid hydrogen 2. Antiknocking agent
cj Hydrogen peroxide 3. Rockel [uel
d) Carbon dioxide 4. "igleaching agent
Codes :

a b & a
A) 2 1 3 4
B A 3 2 4
C) §F2 - 3 1
D) 2 3 1 1.

20. Spsacing sursdlukses ol
2 ndl (A) : Geusiefit CUrElEsr snrbilewBin LUINIRSE FdhEan iblgtrs, wibigdpa.
syemd(R) : Qastell & 5efgGernph oen pg Flaiak SGMmaG e
I .
FCp @Dl Geren gfiiiige sMurarnlaeous Cainbisd
A) L (ANb R) b =l (A) B eflwuran sTesh (R)
B) (Al R Aemeld) 56 sifliiman oo (R) sl
C) (A &f e (R geun!
D) (A sauphEe [R) sl
Consider the following statements :
Assertion (4) 1 Silver articleS'on.exposure ioair become black .
Reason (R} : Silver 1s oxidised to silver oxdde.
Now select your answer according to the coding scheme given below
A) Both (A) and (R} are true and (R is the correct r:}q:rlﬂ_natinﬁ of (4)
B) Both [A)and (R} are true, but (R) is not the correct explanation of (A}
C) {A) Is true, but (R) is [alse
D) {A) is false, but (R} is true.

x| 7oL
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2l. yomadler Geasafla #Gp Carfasiulfea ahs wosurar QUTEs
(pseTamnTS coleTREGHAIDE 7
ﬂl- BlysGsn Linellesaanm) B) Qs Gemrey
C) «-D-gasGarauyBeanmeay D) Gy ageyblésman.
Which of the following is the chief component of fungal cell wall ?
Al Mucopolysaccharide B} Cellulose
C) @ - D - glucopyranose D)o None of these.
22. Uereumueuarsupiiics o8 sflumat Clunmhdysieng 7
A) inréG me - @rmoal e Fte seny
B Ysa@méu - ClppsCaray #tdsanty
Q) CweepCeuras - e jd amtha ue s [ i dasny
D) B)eme e S
Whigch of the Tollowing s correctly matched 2
A) Maligse - Disaccharides
B) Fruetose - Hexose sugar
C) | Cellulose - Struetural polysaccharide
D) | All ¢fthese .
23.  Eubensile-Guniu@in Sill@esT aeftsibr s aus
A) acknGemiude B) _iifle
Q) urpgsgdld Dl Goa egafidan.
Natural lipids are readily soluble in
Al oil B}, water
C) MErcury Dl none ofthese .
24, 2NADH, ppadeaflelpha Cuniulls ATPH S ansdls acnaams
A 3 _ B 4
C) 6 D) 12 .
The number of ATP molecules yielded fromm 2NADH2; molecule is
A 3 Bl 4
C) B IB)| 12,
x| 701] [ Turn over
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25. dibssem_ aurddlutisaen seusi :

p_,g,r_gﬂ (A): enlyger aeitédl, auerttdleng wrhpb, wiy #Tihs LHQD
BentiGumbssile aphdu LEG cufladins.

srexnd (R): eplyss wetad Gprappee SbHADT.

&6y @l Getren GHldge sfiwren dlem_sowd Cathg®

A) (Ao (R} i afl. (R) e cnug (Alelih@ e flurer allersa.

Bl (A b (R Lef. syemd MR eeug (A ofipe shwura alerbab e,
C) (A afl, syemen\(R) gaugy:

D) 4A) geipi s (RIGAL

Cansider the following staletnents :

Assertion [A) -Nitrogen plays an tmportant role in growth, metabollsm,
heredity and respiration.

Reason (R): 1t suppressed formation of flowers,
Now-select your answer according to the coding scheme given below =
A} —Both (Al and (i?) are true and (R} is the-correct explanation of (A}
B) | Both (A)and (R are frué, but'fR) is not the correct explanation of (A)
€ *iA)s true, Lut (R} Is false
D). (Alis false, but (Rl is rue.
26. Epsoen. wrstutsoe sasdil :

2 mdl AL SEelallsn pasman Leudlud sbubsliulie Uesfluren gl
pravedlel stnluePde osis Lledimamer B flusnu
sne GAIDE-

smrenmid (R) %éwé‘mns:@f@hmn'_@awﬂﬁ: ey Hleracu EenreQlal&ng -
£8p il Reten @il g sflumer aSen_soug Catphlla@ :

A) (A)b (R) i sf), (R ererig (A) elpe sfluren allenésib.

Bl (Al (R b sfl. syemmés (R} ssvug (A ol sflurer allonésb 6.
C) (A)efl germré (R) saum.

D) (A pen e (R) &,

x[701]
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Consider the [ollowing statemenis !
Assertion (Al : The primary physiological effects of auxin in plants is to
stimulate the ' elongation of cells in shoots ',
Reason (R) : Dormancy of buds can be broken by auxin lreatment.
Now select your answer according to the coding scheme given below :
A) Both (A) and (R} are true and (R) is the correcl explanation of (A)
B) Both (A] and (R) are true, but (R} is not the correct explanation of (A)
Cl (A) 1s true, but (R] is'false
D) (A} is false, biit (R) is trues

27. diphacion cumdRLRE e e |

ool (A): fosi b K sneliufh apgetsn Gl ety eftldy Hewiéema

waigi dveiry Gamu o @nleend, sharefl nhnlb So 2 o6

sngen (RY: sl Kibler K ureng o Ut feiligeetid ghupn T wflemu
piéEfpg.

£GP @lindll Getren spligd sfures oot CafBela0

Al | (Al (R i &7, gy oo, (R) @ amig (A hldiE 5 Mume allend mib.

Bl (Al (R)b &fl, spemmey (R} &g (A} 608 o1 Wi e adlend a6 2o,

Cl (Arefl, gysanés (R) peu.

D) (A seupl, SETe (Rl&fl ,

Consider the following statements .

Assertiori (A) : Green vegetables, soyabean oil, tomataes etc, ar¢ chief sources
of Vitamin K.

Reasom(R) ¥~ Vitamin K prevents erosion of the skin in higher animals.
Now seleet your answer according to the coding scheme given below :

A)  Both (A}and [Rjare true and fR11s the carredi explanation of (A)

B) ' Both (A) and (R) are true, but (R)ds net the correct explanation of (4]
C) {4) is true, but (R} is false

D) (A is false, but (R) is {ries

28. Faludenal urflseils susflnaaL e aplyRens FleveiluBssin Clgdme
Al geoseila B GangGyrdleu
) glleGenmevCunitash D) urtsd@aimey Guriast
The cell responsible for fixing atmospheric nitrogen In blue green algae is
Al Akinetes B) Heterooysts
C) Aplanospores D) TParthenospores .
* [ Turn over
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29. Qammiud Gurplssls Boba eenslardy Catrbas aatug
Al dlenendmranaudlen Bl  1y.éle. |
C) oesecGurbigeffa D] slGurefli&EGage,
The synthesis of glucose from fat is called
Al Glycolysis B} T.CA.
C)  Gluconeogenesis D)  Saponification .
30, FC) aumLeusiauhBlé g Clurmssh @éerss 2
A) el flen ‘A — @Emmapules &L salg Lg
B) el Ll € - fiflds sanrussug
C) e afler 'B —_ mifle Hangtheag ug
D) et S B — e senyiiisale wiy,
Which one of the following is not. correctly matched ?
A) / Vitamin“A' _ -~  Fat soluble
Bj Vitamin & — Water soluble
@) Vitamin '8 — Water soluble
D) Atamin 'D’ - Water scluble
31, OWiOf aglll sennbgeier 3).05 )
A) el usdl Bl @subsldr .pl,lﬂr:]vufg.ﬁ
C) _aoaie sgisd D) eullibpd usd).
‘Pituitary gland 15 sttuated in
A)  the neck B) the base of the-heart
C)  the base of the brain D) the abdemen. .
32. @rbsddine oy Ppsdleer G Cierfadleng
A)  pfCorgGeniicr BY =auybar
C) smarglermysiicr D). ewuGureCermies.
Red colour to the bleod is glven by
A) haemoglobin B) albumin
C) gamma globulin B) myoglobin .
33. Quamsgnssran urdud semrilsuhsst Geermea B RLUGES! LRSSTDE
A)  UGprhigeiig Gymen B)  ereiug Byr&lgosn
C) QLevQLmeusymsn D) syaGLmevengme.
Sexual characters in female are controlled by
Al Progesterone B) Estrogen
C}]  Testosterone D} Aldosterone .
x
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g6 seuylilou garag o CuitprCmblghe saow (9) golE somwL
s eoi_W) seul @elsugbel ot
A)  sphespluemy sl Bl Jbhseniy
C) {Ean_g,mmﬁ. AT D) @lenl vy sy,

A cross between hybrid and either of any parent ( deminant or recessive) is
called
A) Monohybrid cross Bl Back cross
C)  Tesl cross DY*"mg@ihybrid cross .
Ll EpghiD G]mem. Lt seT ﬁ;wﬂf’m S B\ pn it s e .
Al Bren® (et smaLgn kg sl FEgey
B ol wloeb B cn@RIbgset aaee:
C) :@c@ HHEDI (el @g}m@ SerrenBL bl mra i erayul L Oing,
Ll et ) 5 d
D)f (Gudnd aptenmemer @7 albEEE HHAUTHSHN,
IdenticAl4wins are produced wheh
A)  one sperm Is fertilized with two eggs !
H) . one cggisfertilized with two sperms ]
C) onefertilized egg is divided intg two L‘fastc-mrs and separated
D)\ two-egds arcdertilized witli\[®e sperms.
RE N YD "B G e o ant s e AT S5 SFeLUBh Gurg)
(224 BXXY)Gris Crmiil Sl Gonin) gpudama.
Al O kgererSTEL Sy B) Heyétar Quereul ﬂetn_‘fﬁmrm
) LieiagdladGyre B acGadd ey,
In human 47 nuniher of chromiesomes [ 22A'% XXY) jgfesulted in
A)  Down's syndrome B Rlinelelter's syndrome
() Turner's syndrome ) Edward's syndrome .
@ppos Gpte 15 prla@mess €568 CGrrussfly eeba( Cabellar) ClaT@asiiLL
Geusfm(Hid 7
Al O GumedGur Bl w.llwe(DPT)
€l  ab.eb.st SE0Y b Dl B EOY OB
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Which vaccine should be given to the newborn within 15 days of birth ?
Al 'O’ Palio B) DPT
C) MMR vaccine D)  Measles vaccine .

Uligue I g ulgwéd Iz e Curesdl, G ClarGaatu.Garer @R SHaemars
Gameor® o flune aflen_emug Baihblsm :

Ui wes T uCigwes IX
a) A B O @rds cusaseer L. e, ot wrhpsdlhe o smreammh
bl wefler gome apbas, 2. Byl Uesy sy

€ sl ofaunet Carans Cemi 3. Ldar @ afefs s

d)  pengitd g aifle) % ure genein Boarhlos, sferset
GEEssT :
o b c d
o Ve 1
B) (8 4 1 2
C) 2 1 4 3
D) 1 2 3 4.

Match List I with List 1k correctly and select your answer using the eodes given
below ;

List 1 List I1

a) A .,B,Oblood group 1. Example for point mutation
b}  Bald head in man 2., Dihybrid eross
o] Sickle eell anaemia 3. . Multiple alleles
d)  Independentassortment 4. "Sex influenced genes
Codes :

a b d
A) 4 3 2 1
B 3 4 1 2
c 2 1 4 3
D) 1 2 3 4

x| 701]
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39, dpssammi cursdlutmener seued
i) ADH ereiuigl- sy Gen engpiBur enufledler @mna srddlans.
)  ADH edrug Gleueansumsdldimby aredems.
i)  ADH seug fluCrmeantCurauflels Geha syéddapg.
v)  ADH edug deflus srudide @epe srsdlems
#8)p NI Pelien @RS g sflurer aflanemwg CatiGla@ :

A) (eHon (i) sflurarane B) (i) wl @b sflurearg
C) (i) wiBd sMurarg DYl (1) whHmid (i) sflurerenay,

Conslder the [ollowing statemenis

f) ADI ts&ecreted by adenchypophysts

i) ADH 1ssecrctéd\by infundibulam

i) ADH iy setreted by neurohypophysis

iv] (~ADI] s secretéed by pineal gland

of the statemenié ;

A) {i) and () are correct B) (i) alone is correct

@) filalone is correct Dy fi), (i) and ftli) are correct .

40. F@éﬂmﬁ-‘i‘?lld curddlutisenct & et : -
Cepd )| e spa ) edbaiieflis | eeGmmGsrdmen
(o\am e Tieian gy
aryawd (R GwaigfiCurarery Mgéteands aanaflsmalls oy ube

cudlsSenng .

£Gp &Rl Gerer @&Filige aflurer aflen.coiid CeidGlan

A) (A wipic (R} GpeaBd saim .

B) (A sfl sgeme (R sai ,

Cl (A opnd. (R @petn@io sm Cinewd (Rl srluren srpastor@n’

D} (Alcppd (RIGras@n #f s omi R sflurer arreamblosne.,

Consider the following statements :

Assertion (A) :  The spermeontains centrioledn the neck.

Redson (R) : Centrioles are important for sperm count.

Now select your answer according to the coding scheme given below :

A) Both (4] and (R} are false

B) {A} is true, but (R} is false

C) Both (A) and (R} are true and (R) is the correct reason

D)  Both {4) and (R} are true, but (%} is not the correct reason .

1 [ Turn over
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Gpdurele eilantast splaive urrlsd mowd SrbilssCusen Gaemré
Gamid i
Al Gaomrifl J. wrir B] V. smgrumd

<) C.V. @Eynunes D S S5 ulaamet .
Credit for starting Space Sctence Research in India goes 1o

A)  HomitJ. BEhaba B) V. Sarabhal

¢) C.V. Raman D) S.S. Bhatnagar .

42. dpsaaoL eun sdlubisener seua -

43.

e.pdl (A @QbHuaslE Sphs siEuwfss oiesmrel sduanr srdier  Lwesrib
G, efain Qlauefl g rmig#smei, vl & et sogghldo
enpbe\ AL Aps-oFihaaid L.

amyesmi (R OpTRACIRIE sygnbsdismegbcr anddigheren iimmen oo
o B

£y @O Betor @Bt Qi Bifllirean afleieiug GEiho!sH

A) (Alsoiputn AR) aflliresnes cuwsie

By (@) rflurfengy. (RIS M enpdos

Q) (Abpgd R efurerena whyn TRY e g aflenéaunm gD

D) (A o i (R EPereTanas. Syerns (Rlafiurer aflsssndi:

Consider the follawing statements ;

Asserttsr (A):  The space shuttic in which Kalpana Chawla. theIndian born
—American Scientistugavelled, when reentered inte the Earth

Atmosphere was-burnt.
Reason\(R]):  The space shutilehad the noséeap (made of eramies)
dﬂlnﬂ&ﬁl = ‘

Now select {he-correct answer socording to the coding scheme givent below :

A) (AlantR]/are not correet

B) [4) is egrTeet; bt {R) s notl corregt

C) (A)and (RiSre _r_{ur':-ec"r, and (R i3 the torrett explafiation

D) (A} and (R} are corteety,but (R) is not the eefrect explanation.

Spdsamsupnie argy- sflLdiaT

QUL ey &7 JEEADTRE HRLILSTS '

A) sy Geerasl féserdpg

B} eabplup Gp& Swebu@sng

Q) stesa gwe berfiuse 2 gafing

D) selu gsg SLEUUGEEEDE.
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Which of the following is not correct ?
Mixing of alcohol with petrol
A) saves foreign exchange
B] iz ecofriendly
)  supporls sugar industry

[3) prevents the possibility of adulteration.

44. dpdacm_ahpst ahi BTG W@ GaflauRsass GlertusLug 7

A sy B) @euGré
C) wmymen DI @aarbismhum:

Uranium enrichment is concerned-with

A)  Cuba B} Israel

¢) /Jran D) South Korea.
45. ybpiteriraditty Qewdgipe 2w SFais

Al FEen BY . Qin g efldsmin

C) GCadg D) apphens.

The plant which possesses 'anticancerous aclivity 1s

Al Seectha B}  Polyalthia

C) Teak D) Murungal.
46. ‘sEnt o pusdile LuMUBEsLIOn EL_Gsaur (D ‘4 cuam

A)  ertamenih ' Bj  Arefatafiur

C) aulfi@emfiur D} emeuiu.

The marinealgae commercially exploited for the production of '‘agar’ 1s

A)  Sargassum B), | Gracilaria

€) Laminaria D) Caulerpa.

47, @EpSlurailé e & (ppaTapsse rEtRNEslLC( s@lallEslurL e b

Al 1932 B) 1986

C) 1980 D) 1992

In India AIDS was first reported in

A 1932 BJ 1986

C) 1980 D] 1992
x[701]
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48, o ulifluey  Mlyeert et Gablurg o @@k g;i)sur J-mem  @he mrerTs
Qleras_nGdlament .

Al 2 a6 i pren B) o es shpe Gfpe mre

Cl e em sarsry flpysue mT el D) 2 e wésd Carans miTeTr,
Bivlogists celebrate every year 5th jyne as

A)  World Water Day B)  World Environment Day
) W.H.O. Day D) World Population Day,

49, Olémeumbd UL iBafld T wremesgeh, mrieeh, o g Sdfluisupenn GhlsAng 7
Which of the following diagrams correctly represents elephants, dogs and

animals?

C)

@.

Al

C)

@.

x[701]
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a=bX b=cl ¢c=a%aafld AYz e wdllIl srebrem 3
Al 1 Bl 0
c -1 Dl G sssybldme.

lfa=bX b=cY c=aZ thenxyzis equal to

A) 1 Bl 0
&3 -1 D] None of Lthese,
shHGUrE Tl @ Blmyeue S o (oume 6 e Ar S

A)  fldld Ceueineat

Bl @bdlu @E el cukidlfen-gien <3 GTh

€l Qungieatudll spegdlen et

D)  mlsutag.e allen geesi

The Controller of Insurance Is at present

A) | Finance Secretary Bl Deputy Gavernor, RBI
C) Chaliman, GIC B) ~ «Chairman, IRDA.

HHELTE mM " g6 -Glongs | 2 husdds  sierafld wg Bl mBmh erdler iy de
Qe ellanmimeflsn &snlldipi oy 7

Al | 5% Bl 17%
C) "24% D) 30

Al present the expendiltre on Government (hoth Central‘and State) as a
percentage of GDP is

Al 5% Bl 17%
C] 248 I, 30%.
Qiduralies oyak G Siniy e¥8iza [ 2007 - b siciw@ Lsef] alleuyliLig ) et

2 _efeng 2

Al 935 B] 929
C) 833 D] 830
The sex ratio of India as per 2001 Census was

A) 935 B 929
C)] 933 D}  ©30.
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54. @pheogdleat Gmiy s @enars sier brHleld g 2
A sdiper® B) L;jjé]lj‘dﬁl[jr’-'gﬁ.&ﬁ
C) Gagenr Dl wafludilrCssin.
The state which has the lowest record of Infant Mortality Rale Is
A) Tamil Nadu B) Ultar Pradesh
Cl Kerala D Madhya Pradesh .
515 TP eremLRUt @1He Sww &eneaul
A)  lGeummantai B)  surmebls
C)  eurdaddl D] | /airgaumi.
________ wasg 1 limdu xeligions leades.
Al Vivekananda B} Varahamitra
C) Valmiki ] Tarabai.
56. st Gpa oflf s ag
Ay 2001 B] 2003
Q 2004 DI 2008,
Which 18 the International Year of Rice ?
4 2001 B)  .2003
) 2004 D) 2005.
57. @hal Lt sasiler Hlgeue
A) | ardn. g0l besmti s Bl _@engriigae Hukingt
C) wev Bgsu tEs D) g B&Tseue,
The founder of the Newspaper , The Hindu was
Al  S. Subramania lyer B} . Kasturt,Rangalyengar
C) 5. Satyzmmurty D)\ T. K. Madhavan.
58. gCrmiiu &pssslaie.srer Seieunph BrEsad agiCrr UamgTal (peonenl
ghné Bsrerercilésmen 1
A)  dlymesrs Bl Grdarma(U.E)
C) Qginef D) eueluulle.
Which of the lollowing countries of the European Union has not adopted the
single currency Euro ?
Al France B] LLK.
C] Germany nj  Spain.
<71
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" Big Egos, Small Men " eefip Usessos & apslweut w2

A)  mydlibogrel Bl  pud Gegwsore
) Garel Gﬁsrr[ru_ggl D w.oen. Coad .
Who has written the book ~ Big Egos, Small Men " ?

A) Narasimha Hao Bj Ram Jethmalani
C]  Soli Sorabjee D) T.N. Seshan .

93 - gy i Suesninliy FlghseE el F s
A) Wbl & e e sieneay
B] s pdalilil i el ek s e gr,:;:?‘.‘:._c;_;;o&mwf—:u
Q) @ghodstnhene o nussgal
D) 4 wiadnildic B @@aé‘-tg@ )
93 pel Constitulional Amendmen! deals with
AY (Sizeof the ministry
H) separate commission for S€
C) compulsory edueation for the children
D) ‘reservation in hi_gh:.'r education .
WTO srep GpEssone JereisamehBlieesafurer allflensab
Al zovs ged) Bipeussic Bl oos cutdss Bl
C) slasQurplLrsien fpsied. [ D) et Gurseal by Elpaen.
What is the correct expansion of the abhyeviation of WTO 7
Al World Textile Organisation B} World Trade Organisation
C)  World Trustegship Organtsation D) Warld Trapsport Organisation.
shie aragdlonbuns Madl fonuevsing g
i erGeritgenis
)  losEeT
iiij ef&aGLH

iv)”  surLurh.

v) ol
A (). .0ppio (iv) Bl ). ().oppi (i)
C) (i) ehpio (v D) (4 Ll@ED .
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The important parts during the Sangam Age were 7
i) Kaveripattinam
if) Madurai
iii}  Arikamedu

iv]  Kapatapuram

v) Musiri
of these
Al (i}.(11) andd{iv) Bl | (ikil) and [t
C) (i), (1) eraed[v] D (i) only/

HHELTEHL whg o aulldt BBrés L;}j:uﬂmuf meflen & oot ol demamn

Al 545 g i slenrash D) 558 "a..wﬂmﬂ'& &l
C) BBS L@Dﬂmd‘ﬂm‘r 9] 575 Lmﬂmﬂ'mﬁﬂ :

Al present the maximum strength of Lok Sabha1s

A} 545 members B) 555 members

C) 565 members D} 575 members .
naflg 2 flenosel gionh supysflEnusBag

A) T gupd 10 o sl B] grer 100 Gpél

C) Getetui 1008sS D} mebut 100 Csdl -
Humarn Rights Pay is nhsawed on

A]  Aprilioih B June 10th

C)  September 10th D), | December 10th |

FCp 2 aher ahs Gl sSIMuSTD S A FAELLISIGDD 7

Al iz ememen B) @nrwebeurh
C)  sebrenllLim@LT] D) sr&égéma .

In which of the following places three oceans merge together ?
A) Chennai B] Rameshwaram
C) © Kannivakumari D) Tuticorin .

www.mntfreeias.com




— www.mntfreeias.com

23 PGRI
66. ulpuwe I mulgue O Qurpsdl, &8y CarDislul Gerer GHlTHsmen s
Qeren® sflurer afeLows CarpOs@ :
uCigwe I U gwe I
a)  Lnpd senns il snaeniisst Cpmfibsrena 1) &dourdmin
bl @gragien e midél enowb 2) Clusigeent
¢) @i curereuefl gurmiéd flenevwid 3) £liméd)
d)  sioesdl 4) SN 1TLIT &
GOHest :
a b c d
Al < 3 ) 2
B) 3 4 1 2
C) 2 3 4 1
) 3 1 2 1.
Mateh List T with List II correctly.and seleet your dnswer using the godes given
below
List 1 List 11
a) Bharat Heavy Electricals 1. Halpaklkam
b)  Defence Research Laboratory 2, Bangalore
c) Indian Space Research Organisation 3. Trichy
d) Atmoic Power Plant 4, Hyderabad.
Codes :
a b e d
A) 4 <3 1 2
B) 3 4 1 2
C) 2 3 4 1
D) 3 4 2 1.
67. spsaLappe’ o erasenls Sdma 7
Al @eruer Gigrflherae Bl eg§ CGarflperea
C)  siggubler Beewid D) syeweulls flemeuwib.
Which of the following is not situated in Tuticorin ?
Al Chemiecal industry B)  Fertilizer industry
C) Nuclear power station D)  Thermal power station.
X [ Turn over
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Gl GeusblyLar QerLfuhng aa7
A)  fHlevssfl B) '_'Tl:&re;rrri,j:,
C)  wuply plasaf D) yflur
Which of the following is not related to Neyveli ?
Al Coal B) Electricity
€C)  Lignite D]  Urea.

utquwer I sp ulgue IT e L e hammsgl, £Gip GlarHestucGerer @RiEHsemers

Glamea [ sflurer ole aing Gaitnam

L g wes X Llagide 1T
a) EUITEm L oD L. ._-n_:;.t,-:ﬁ Ggafugsra
k) &1 Ekuieu By b 2o uesigsne Cgatoud mma
c) Gmbh, 10171 3. SR CUTIRER S 5 v T
d) Gy el wmn Ao B B e N

@OWPaat -

a b c d
A) o 1 - 4
B) -4 a3 2 1
] 2 3 4 1

D) 1 2 3 i
Match List I with List I correctly-and select yolr answer using/the/rodes given

helow :

ListI List IT

a) Banapa-{ree 1. [ Yrnapental purpose
b) Acaciafres 2. “Festval@purposc
c) Teak tree 3. TLudpurpose
d) Polyalthia tree &7 Timber purpose.
Codes :

a b c d
A) 3 1 2 1
B)] 4 3 2 1
Cl 2 3 4 1
D) 1 2 3 q

x| 701]
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70, @flpErigé “bEpss sroren” sl Hdsmsse urpbuflu (pampulléo
LLESTL(RS SR DhS BiEy STeuTD ’
A it (67D B) o&
C) GCeuby D) dprblpasl.
Traditional medicinal plant used for the treatment of Jaundice' in Tamil Nadu
is
A} Mango B} Arasu
)  Vembu DI “Keelanalli.
71, uereniw ST Genr e gy spdldEhe s flae, ehpaoe afleuriefl oo b
LTy sEe il Uu LE)?
Ay s B), el
C) e dlenn D) | pgena.
What werethe anfmals found in the most of the anclent forts for protection ?
A) Lion ) . Tiger
@ Horse D) Crocodile.
72. pllpogds abd wiaiebiio 0 abel Bnhse ) URBmesss ol Sysounfpglicienal
A)  (wajenit B) . Samublsgmt
C) dimadl D) Gl dneman.
Wherd is the Velerinary University ffTamil Nadu located 7
A Madural B) Coimbatore
C) . Trichy D}« Cheonal,
73, upneEsiv B LD L Sreull 246 o ereTs.
A)  Gwflurd Bl  GComubysgmi
C] omm D) » &8,
Parambikulam pr;':jeét is logatéd in ;.4 district .
A) Periyar Bl Coimbatore
C] Ooty ! sewPY Karur.
74, STEEEGY ... &G ddsd CLbpg
A)  evills 2 7H Qgrfiperese Bl @by s me
C)  epubelud Qgmfipsress D) @uidrs smel siemese .
Tuticorin is famous for
Al Spic Fertilizer Industry B) Iron and Steel Industry
) Aluminium Indusiry ) Machine Tool Industry.
x |701] | Turn over
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75. Camgen Speyeme sbloysn Hluwend Qelpg sos alerfiiugphers
Al sflpssdla grils sl "
B)  Garubydart eesnpliaug iy
Q) plpesde sdpgmedd gpflonoy JITiLsHE
D) @en agopflaema.
Gokula Krishnan Commission was appointed to probe Into
Al caste clashes in Tamil.Nadu
B) colmbatore blast
C)  study the Dalit's sttuation in Tamil Nadu
D) noneof these,
76.  unys phET olmes CuBD apass SEIPS ApBRIOFET
Al C.N, et gent By M.G. gt ey ot
) €. grgBeaurerdant] D) Uhgeidse:
The first Tafil Nadu Chief Minister tobe awarded Bharat Ratna Is

Al C.N_Annadural B) . M.G. Ramachandran

C) | C. Rajagopalachari D} Bakilavatchalam.
77. blpmr g susTgh BB e L sdle o_cheng.

A Bood B)  Gluflum

C)  feadim D) semafurgof.

The Pykara Scheine of Tamil Naduis in ... distriet.

A]  Salem B) - Periyar

C]  Nilgiri D) | Kannivakumari.

78. ang sbp Coflueund aresLITTTE e e D @ma’sﬂq sgetasau Qeuefil L mi.
A} shmoeciu g B} sUfoewiiu Seur
C) ez d D) ellalles. gui.
Which Tamil nationalist published a literary ma.tgazine called "Bala Bharathi" ?
A]' Subramanya Bharali B) Subramanya Siva

Q) V.0.C. D] V.V.S. lyer.

«[701]

www.mntfreeias.com

| e I e— S S g NS



www.mntfreeias.com

27 PGHI

79. uviguwe I @ ulgusd M= dé Guregsdl, a8 Gar@asin Reier wiluiRaeamend
Qunem(@ sflurer alleeowg Ceptibia® :

Ul igwes I uigwe 11
a)  ulmelurdsd 1.  srene Gry senl
b Wik T LI Sl 2. sudlSiid
c) [lIT &M & TIg 3. wree GRT SNl
d) DGUEVRITITIG 4, sLpsenirl Ul

@HuSHmer :

a b c d
A) 2 3 ] 4
B 2 4 ] 3
) M 1 2 4
D)y 4 3 2 1.

Match List Iwith List TI correctly and select vour afiswer using the codes glven
be-low

List I List 11

al Pattinapaikkam L.« The moming bazar
bj Maruvurpakkam 2. The restdential area
el Nalangadi 3. The evening bazar
cd} Allangadi 4 Coastalarea witlyits harbanr.
Codes :
a b (o d
A) 2 | 1 4
B) 2 4 1 3
C} B 1 2 4
Dj 4 3 2 I
80. ApCreGeusl wrau’t sbimé t saf wTgrd LFCETae ClFlululLrT 7
Al af.elleren. gui B)  eumgrnél gui
Q)  eleedun. feflams sreugdlf] D) eau. Saflours muksmi.
Who assassinated Ashe, the District Collector of Tirunelveli ?
Al V.S Iver B) Vanchi lyer
)  V.S. Srinivasa Sasiry | D} 5. Srinlvasa lyengar.
x [701] - | Turn over
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@)\t emeoiieiT aiiLEd) Hpse Cupsis sidle Lyaume Qlarampeian s 7
A) @y Epounse B)  syeueurd @mmmmm
C)  wugpsml @ounans D) Gpursi @)uwuwnens.
Which part of the Himalayas has the maximum stretch from east to west ?
Al Kumaun Himalayas B) Assam Himalayas

¢) Punjab Himalayas D)  Nepal Himalayas.

82, dipdmeion cult Sl e e :

apdl (A rgilen SinGgenssils weot Haes i @i Hng.
syemd (R il el G oy, ese whdamar Jabmé Cudigin sy .
8y @HIbd Heer @rhdilige sl e Sl awd CatiCla @ -

A) {A) oo (R, (R) ereig) (A) elpe aflwrsst silends o Gin.

B) | (Alsbs- R eR R adug (A oThe af e allendabloocner.

C) | (AfePaerés (R)seim,

D) (Alasup syema (R) afl;

Considerthe following stamméuts 3

Assertiorl () : 'Seils'in humid tropicalreglons lack humus.

Reason (R} Heavy precipitationt causes leaching of humus.

Now select yous answer from the cading schemie given below :

Al Both (4] and (R) are trug and {R} Is the correct explanation of (A}

B) Both (A} ahd (R) are true, but (R} is not the correct explanation of (A)
C)  {A)is true,but (R)is [alse

D) (A} is false, but [Rpis true.

83. argupTalpsl . alpSly peoREEE BPLCHHhL 2D 8 1
A) Gansmeuf] B] &adms
c  pud ' D) L.
Which of the following river flows between the Satpuras and the Vindhyas ?
A) Godavarl Bl Gandak
) Taptl Nl Narmada:
«[7o
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84, Qeitoehish Curatssed B Gy 2 der aoena&Bar
o & HESER B

A el st Gard B  wrdflpn Gar
C) (ERTRyE=ca GEnm 13) | Teug @) e 6uor Gair.

The boundary between Germany and Poland is called

A} Hindeberg Line Bl Maginot Line

C) Durand Line ) 17t Parallel,
85, S@ETUTE [he)h SEohaeverpa T

A)  aumngl B) weimél

C) & i AT gt B} (N FrBeufh

Ahmedabidd town, s located on the river

A) Sabarmrit B) - Mahanadi
Q)  Gangotri D] Kaverd,
86. MNIFB.FepUad &fitls
A) (e oiisd B Oefller aeh. oemwiiy
C) weiiuilelr GG ) D) <& s
The terin 'NIFE' refers 1o
A) Earthqualktes B] Core of Lthe earth
€) Crust of the earth D]  Ocean floor.
87. @pgu sl senmiile Hamb
A) O 7516.6 £ ‘ B) 7500.5 &8
C) 70008 ' DY 6160 8.5,
The lengthief Tndia's coast line is about
A) 7516.6 kmy B 750MEkm
C) 7000 km DY 6100 km .

B8. eabslu L SRS aanIe T 7
4) Guissguetsa guésliu’L sTEGM
Bl Gar e urPausplea gasalull srisst
0 Goitsoe alfss araflu furs 2 uBurflés QE&sULLL STHesT
D)  weoesurp whesflen uwdurighbleer Ga&slulL srpse,

«|701) [ Turn over
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What is meant by ‘reserved forest' ?

Al Aforest reserved exclusively for grazing

B) A lforest reserved for hunting

Cl  Aforest reserved for commercial exploitation with restrictions on grazing
D) - Aforest reserved for the use of tribal people.

89.  unealldls eugiue e orfledsme gpafomsdd Siendeayd (2001)

1) diflygn 2} o gpfmmgiac
3) dHa&dn 4. ) Blorgdvsemn
@PiPsst :

A) 3 2 4 1

B 1 3 2 4

C) 2 1 3 4

D) & 1 2 4,

Arrange the.states tn ascending order (n terms of sex ratio (2001) «
1) | Tripra 2) ~ Uttaranchal
3) Sikkim 4} © Rajasthan.
Codes :

Al §3 2 4 1

B) 1 2 4

6] 2 1 3 4

D) 3 1 2 -

90. upuldienar iUl lrss, Osran() CerRéeiu wrileisae @oke aiflasde
DML EaYD

1) eupdlpdipCpan

2l egIs

3)  d=at

4)  sEveurd.

GOHEen :

4] 1 2 3 4

) 2 3 1 4

c) 2 4 1 3
) 1 3 4.

» 701
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Arrange the following states in descending order on the basis of area :
Andhra Pradesh '

I

2)  Gujarat
3) Bihar

4) Assam.
Coxles

A 1 2
Bl 2 a
a 2 4
D) 1 3

3
1
1

2

=

o

4.

91, ulyud I gdtgub Mecer Gursd, 4G GeafGasmul Qe GilUfamend

Qeran® sflure allen snus SEtHEIEH :

=%

Lr o~ b b2

W = & A

ul e I

a) et
b) | smtenHEG il
c) @uﬂl._l.q.a:{?rm
d) ki d:
@lHest

a b e
A 3 1 4
B) 1 2 3
C) \2 3 4
D 4 1 2
Match List I with List TI C
below :

List I

a) Kant
bj Thornthwaite
c} Whittlesey
d) Penck
Codes :

a b c
Al 3 1 4
B) § 2 3
) 2 3 4
D) 4 1 2

«[701]

1)
2)
3)
4)

ulgué 11
Fre [Hleey. cusmests i ()
st se et
yalliGlenr-Camppio

dleuemy susmsOLmE

il

2)
3l
4]

ectly and select your answer using the codes given

List TI
climatic classification
cycle'of erosion
origin of the earth
agricultural typology.
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92. FpbecoL aurddlulseea sousf
o pdl (A): Cplew wppd erddl Glenea @}Uw@&rﬁﬂuﬂﬂ wenevilled

Demendlpg.

smyeend (R): @lo uiliteet clamergguéei glralpuorer sryadiast

Croarupdips .

FCp GO Hefren @Pdigé sfiurar alaLaus Carba® :

A) (A) oo (R) aifl.

B) (A)wpps R eflefR adwg (A)alhe sfliuren allerésbldamen.

C) (A et gy () saip.
D) (A) eI e, (RIET.
Consider the following siatemeriis :

Assertion (A) : Teaand collee are both grown iu the Nilgirt hills.
Reason (R); / Beth crops need simlar condition for growth.
Now geléet-your answer accordingto.the cading scheme glven helow :

Al A and (R) are True,

B) Both (A) and (R) arc true, but (R} is not the correct explanation of (A)

Q)  (A)s true, but (R 1s false
D]  (A)fs false, but (R} s e,

93. s Cafll OrP@BTEme SUEITMLULD (o umuyb @leemsHng .
A) O NH4Z B) NH7
C) NH3 DI NHS .
Which National Highway connects Agra.and Mumbal ?
A} NH1 B| \ NH7
C) NHS3 D] HNH Bg

94. steuCges Lo ludle Caramm LURD BraT
Al ECGLrut 8 B) Gl ut 8
C) @eysau_ 8 D} wsbuf 8.
International Literacy Day is celebrated on
A)  October 8 B) September 8
C) August8 D) December 8.
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9%.  Ehdurale dlelupsnourea aeimGiemi &gflatliiurens
Al guDITELLy W B) dl&umil
C)  uneweofl D)  Glersslen.
The vldest oil refinery of India is
A)  Haldia B]  Digbol
C) Barauni D) Cochin.
96, Qadenanid L urhhens o mbaurddlusutsel g Garayl WHQID e
A BT B] #&wd
C)  Gumesrieh D) | e
Tidal Park ift Chenmal was-formed by TIDCO and
A) Eleot B)  Sathyam
C) Polaris WG
07. Gual) wrailiub wglEny DTEICL B85 hE Oflhe eyt B
A) 1996 B) 1997
C) 1998 18] Yoss
Theni district was bifurcated rom Madural on
A) 1996 B) 1997
C) 1998 Dij 19899,
98, ulgwé T m olwoe e GureEdl. £Gp CerEasuu HeTer GillfGemens
Gares® eNure efleoramug Galhels® -
Ul gwes I U ges IT
&[T ETETITRUILID o b
a) Caupaiiicd 1} sessmeut
b) 6T I [ 2) ﬁa:é?lr?t
¢ wEetEs 3 ( Arenatas
d)  euleuf 4] srgsdlugh
Bl e
a b d
Al 4 2 3 1
Bl 4 3 l 2
C) 2 3 1 4
B B B -
« [701] [ Turn over
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Matlch List I with List II correctly and select your answer using the codes given
below : '

List I List IT
Sanctuaries Districts
a) Vedanthangal 1) Tanjore
b) Kalakadu 2]  Nilgini
l Mulkurthi 31  Tirunelvell
d) Vadur 40, Kancheepuram
Codes
a b [+ d
Al 4 b 3 1
B 4 3 1 2
C) 2 3 1 4
D). a8 2 1 4
gllpmriias syl oralLb @ape GuwrEuing:
Al dljnene B) | @eumitlen
Q) & ThLae6H B) 1 \@\siny Srg.
Dharntapuri distriet is known for ... in Tamil Nadu .
A Granite B) Quartz
) Lifnestone D) Irom ore.

HIPHT et G EHFEW SeeuGu () o adufng agl ¢

Al Beeud Bl  sanetumgsLot

C) Hrpatud D) grigEEs,
Which is the South'Indian Oxford of Tamil Nadu ?

Al Salem B) “Kanniyakumari
C)  Tirunelveli D). Tuticorin.
@&sst wen wutrme fiepeiuBsaliulLgl 3

A UmsUe Bl gbus

) Euipibleny D)  eeneyge a‘:lé:@.
The igtadari system was introduced by

A) Balban B) Albek

C) litutmish D) Alauddin Khilji.
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102. Slemaumsuemaubniel arg eflurs Curphsaldane 7

Al men SHemsuin —  mesman Glprifliberene
B) umpu shereb —  giflyb curphans
C]  ydlu shemed —  fPlypsr wrpsos
D) Ganldan el —  weoorey 2pusdl dlenev.

Which of the following is#rongly matched ?

A) Mesolithie period —\OMicrolithic industey
B) Palgolithie period —  Wandering life
C)  AMNeolithi¢period —  Settled life |
D) | Chaledlithie period —— Food productng static,
103. dienalmetmmeuppet ap soem sulifdlan wem) @islamsaic o sten_mdlug
[@eeman 7
. A Fleiphs sibley B) o\ gluiremd
G moblswu DY niifE ey

Which onc of the lollowing does not belong Lo the Three Ratnas' of Jainism ?
Al Full Enowiedge Bl " Meditation
C] Good action D) = Ldberation.
104. Sleimeugpiieniii sefles il coeiny E-i_".l!;G.I.DED& W (Reelle: sabe Csress_suf 7
A) 0 sy, SGLEEWT
B] &b eib. mreraiium
C]  ab. Ga, snid
: D) &l sreny, Eadfleurs srevgif] |
Who of the [ollowing atiended all the three Round Table Conferences ?
Al B.R. Ambedkar B] M.M. Malaviya

C) M.E. Gandhi |B]| V.5. Srinivasa Sastri.

x| 701 [ Turn over
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105. gymher galutiss ahs sassme cdlassdpg 2

106

107.

Al (B DT ED B] wsrurrshn
C)  ugrespdlyo D)  @resr sageen .
Which stories were explained in Ajanta Paintings ?
A]  Ramayana B) Mahabharata
C) Pancha Tantram ) Jataka stories.
@hgluralpe eCrriniulaefleT qupe sy sMitmsa paondd aflastu@s s ¢
A) Currdm i, | aadsmni, @bl Gemt , (90 e dmnigi
B)  Cémasn, suhdlGeut, BUriéeddlut, OOpEsHemt
C) oy Gentil, Lderd sngty OIQpess&aryty Cumt & 5 dlum
D) ASGH gheEEmyt Buntdmddhut, syl Calnr, Lé&d st/
Identily the'correet arder in which Europeans came to India.
AY ( Portuguese, Dutch, English, French -
B)  Dmich, English, Portuguese, French:
C)  English, Duteh, French, Partugucse
D) French, Portuguese, English, Dutch.
vl gwénl o uliguée 02 cdrQurmgd. #Cp CErissiul Gsrar@dllRamers
Clarasa® &fluren el enws Gefpbis®
U ig ue I ulguws II

(g aor 7 61T Lisni L 1) (Clgm_iiyem:_wig)
a) ergprndesTlotisar 1}  @eenwrs
b) emgrglyder 2} @entésbd
¢l sesaundl allget 3| lsasse
d) sryps alysr 1)  UeEsLED Qlints G (el
@Puipeet :

a b c d

A) 2 1 3 4
B 3 4 2 |
) 3 1 4 2
D) 4 3 2 1.
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Match List I with List II correctly and select your answer using the codes given
below :
List I List II

Works of Mahayana Dealing With
a) Sadharmapundarika 1) divine grace
b) Vajrachedika 2) heaven
c) Sukhavati vyuha o conduct
d) Karanda vyuha 4] metaphysics
Codes ;

a b c d
Al 2 1 3 4
(5] 3 & 2 1
Cj 3 1 4 2
1) 4 3 2 1

108. e —eun hhlumseanen o el
ety (Al: upgeowb sifur Cerlurl oL §hné Glarererailauens.
sirgemnd (R): Upsenud BnEeT Slemwraa ghns Glareisralsume,
G N Rerer @Pii ge efluner el ous CoihCEE <
Al (A)opps (R) el (R) aeéug (4] oS he sfuren allerasin
Bl (A)wbpd (R sfl. R g (Alelhe efluren allerssflasio
C)  (A) sl @uenras (R geug.
D) (Al seumy ey (R) &l
Consider the followingstatements :
Assertion (A} : Buddhism does notaceept the theory of Karma.
Reason (R] : It does not accept the existence of permanent self,
Now seleci your answer according to the coding scheme given below :
A) Both {A) and (R) are true and (R} is the correct explanation of (A)
Bl  Both {A)and (R) are true, but (R) is not the correct explanation of (A)
C) (A} is true, but (R} is false
8] Al is false, but (R} is true.
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gweurburer sflédlysems erapSlusut
Al Geugprusis Uleiener Bl  al&f
C) greb Subwt D} Fleusdsil).
Kamalambal Chariiram was written by
A)  Vedanayakam Pillai B) Lakshmi
C) Rajam lyer D]  Sivashankari.

el G eneenil 61 g

A) Ghgsim g maSlun Bl &St

C)  Genhlsnaigsel D) #ageie sahmermi
Manimekalal waswritten by

A)  Tolkapplyar B}  Kabilar

C) /| Elangoadigal | D]  Sittalal Sattanar,

@y i@ Ceon hgitim Campedies wpGlpT s Gt

A)  shoe Genada Camper B | adsd galligs Gorper

C)  dimbl s@we Canper D) apbops Qe Gompe,
Kulothunga Il was also called

A)  Gangaikonda Chola Bl  Sungam Thavirtha Chola
C)  Krimikanta Chola D) Mummudi konda Chola.

Semeumeustoupiie: srasmenls ubfl GoeuC rdlu Bradab SilHdlnsaadene 1

Al Glumer bl Cleustall Bl - Glsibt
€] Gleugmssd Dl @&ehy.

Which one of the following is not known to Mesopotamian eivilization ?
Al Gold and Sliver B) Copper

C) Bronze D) Irom.

flbg swbleuet] pnafaidlen vl sadrael

A) LU LSS

Bl sy suednesin Y fu Slady ol saass

C) el @Sl LeTUeNILITET SHLUL WL SeuaTsaT

D) sl - Sy Hip wlaedrse.
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The pottlery of Indus Valley Civilization is

A Grey ware B)

C)  Northern black polished ware Dl
114, peussllgne surpgeng Carppeisgart wurt 2

A GeGandy mrp B)
C)  Goed spdloned D)
Whio was the founder of Navavidhan Samaj®?
A) Devendra Nath B)
C) Keshay Chandra Sen 0
115. pse Sy peurymbé it @ bhgent wrt 2
Al et -an e Bl
Cl /[ follutrgaen D)

Who was the firat Director of Archacology ?
A) Dr.oHultz Bl
C) Fergusson D]

— www.mntfreeias.com
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Black on red ware

Black and red ware.

meldesr apdlym gl

e, LBEN-:J:'JJ st

Navin Chandra Rai
P-C. Majumdar .

ilesdenm agond_seb allbigmi b

wrt e -

Alexander Cunningham
Marshall .

116. @idlurald Eimbeny @Wesiapaeirs Silpsiu@ssuntse

Al eyflutaeh B] dlyralitaer

C) | urgdatsel D)  =Guhlutsst

Iron was first introduced in India by

A)  Aryans B) Dravidians

£ Persians D) Sumcrians.
117, 9ficgey urrmgpwerpedlibe CorptsfssiulL wpad GBdui wrt 7

A)  srerurh CmerCrres Bl Syt mren

Cl ey #. urentgdl D] mpeianieure Gmis .

‘Who was ihe first Indian, elected for the British Parllament ?

A) Dadabhai Naoroji B} C.R. Das

C) W.C. Bonnerjee D)  Jawaharlal Nehru.
118. &g s prafss afid fplussdeann 2 @l LETS STeOTiUC LGl 7

A mag FiLLfiBed Bl &g sow

C) emaaienan Dl  @eod @S b .
x|[701] | Turn aver
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The Indus Valley Civilization was specialised in

A) town planning B) architecture
C) craltsmanship p)  all of these.
119, Slpe swblesst) n&ssT S @eraaiuL ehs Glplapand euamtradlarmi el 7
A)  Gybshinen B)  euemonsd
C)  edlegm D, Fleven o gapblaiene.
Which God was worshipped by the Indus Valley people?
A)  Indra B, Narana
¢l Vishmu Dl Noreof rhem,
120. Siba sw@leued] D& Hsh awl,i}ﬁ:@u'.m@mm @yé&@w& Glaihg el 7
Al éef.n@mm R) upqed
C) | Gleusiet D) Sk .
The Indias-Valley people imported from _abroad
Al wheat B) | wine
C) silver 3] sillc
121, o, s Sl B0GIRLST] el (-:péag?lu 5_ergy
A fd B Gesrgew
C) | Eemerld D) &by .
.......... \was-the primary food of the Indus Valley people.
A)  Riee B] Wheat
C) Corn D) Millets,
122, Ledensere BESEFTE up ! ehe Clpiile spa QaTeng! 7
A) & Geugl B) eroGauzb
C) wgef Beusid D BT cuamr Geumin
The earliest mention of medicine occurs in which of the following Vedas 7
A}  Rigveda B) Samveda
) Yajurveda D) Atharvaveda.

123. sy élywhsst e arpboadid HTEG Blanamel ahEs HTa UGS OIS
sueTtadluen_paEl ¢
A CapbsEnse WhPu sTed B Ma Gous arwd

c) Onflu Gaup Hred D)  @eupnis a grafiduenen .
x| 701
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Ashrams or four stages of life came to be well established during which period ?
A) Pre - Vedic perlod B} Rigvedic period
C)  Later - Vedic period D]  None of these.
flé CGaupddlds erancy oy midlyetenrg 7
A)  ursphmefler Glemmliy
B) smgsa whpb Glapaseiia Qgm@iy
C) weBeuy i Haeflean euflenswmen, LligmGl
D)  whdlghset whphet fgsetidr Gipr@iy .
Whalt does the Rigveda contain ¥
A)  Collection of prayers
B) Collection of storles and events
C) Qollection of a chronological sequence of dynastles
D) Collection of magie rituals.
Flpseetal ahe Parlriy sfere gflutamrs ssfnllsatu e,
Al | ugySleugmein Bl - Apé@ ylaraileusrd
C) gl D) Gups rgfiridigCaai
Which among the following geographical areas was not inhabited by the early
Aryans 7

A) Baluchistan B] Eastern Afghanislan

C) ' Punjab D) Fringesof Westeérn Uttar Pradesh.
Lgafldn ampsdidug ballg JUTESEESE Sis UL &) b

A Gamuib Bl @ewe

Cl GuEesn D meos

The root cause for all sufferings of mankind according to the preaching of
Buddha is

A)  anger Bl  lust

C) pride D} desire,
f& Gaug ere whasalldr 2ualiuen, sapsEmnll s1g ?
A)  mnl ggliEs GHbuD

B shos sflés goud

C) g i flbs @HbUD vhpb shos AHEs SPDUL
D) @eeu agaybidme .

x[701] | Turn over
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The basic social organisation of the Rigvedic people was
Al Matriarchal family
Bl Patriarchal family
¢  Both Matriarchal and Patriarchal families

D) None of these.

128, sis @eddln erigsuul Guom !
Al o BY sl
C] ol D] ineveuWreRD .

Sangam lterature was writfen in

A) Avadhi B} Tamdl
) Maithill D) Malayalam.
129, whdlimon e bn oEQ Seulgn LTl e g dluieurt
A) [ flmepesty _ B ereisnlihs T
C) e () D) - whsmanrmmunt

"Mandiram Avathu Neeru" theSong waswritten by

A)  Thirumoelar B|  Gnana Sambandar
C)  Kannappar D)  Mangayarkarasiyar.
1:30). Lgbeue i oo TEET-Seunn 6l Tang. Sapedlsan it el 2
Af  geotogb Bl uss uwsb
Q) Blksi ben D) _sogal bab.
The pallava rulers helleved in
A)  Jainism Bl Buddhism
C]  Ilinduism ' D)  Shaivismh
131. Oeraincuaraibdia e sflurs Qurebaaiideme ?
A)  snmmen e DS —  Ar. 16
Bl  Seowiy e flemn — Ao
Cl  aurpéome ohinid ssHET g flems — Art. 22
D) &g erdlpnen 2 flanio —  Art. 24.
Which of the following is incorrectly matched ?
A} Equality of opportunity — Art. 16
159] Right lo association — Art. 19
C) Right to protection of lile and liberty —  Art. 22
D)  Right against exploitation — Art. 24.
« 701
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1832, e qpen EhH syflumesiy sCLsds weaT HEHEEILCLS ?
A) g0 (oD Bl &nwen -
C)  ppeiim (pEmD D) Almiaiin alldeme .
How many times the preamble of the Constitution of india has been amended 7
A) Once Bl Twice
C} Thrice D) Never.
133, ulgué I g ulguée Mo L& Glurms &), FGiplolar (735 UuC sl e @SR & enen &
Qe (p sfluren ellen el CarplB
ul e I uagquen IT
a) @ ennudengl peSsotplunt e 1] GiudClésel]
b @yeobiucdiureet Gatplshiaes | 2) [ AL
cl o e il #1 3]  wroemainslieu
d  @lgemwives aenaiuBBe v ) GdeTEe
HiihfHes 2
b d
A) 2 1
B) 3 4 1 .
C) 4 B 2 1
) | 2 3 4.
Match List T with List I correctly and select your answer using the codes given
below :
List I List II
a) Modernigation of cfvil service 11 . Wellesley
o] Recrultmentof civil servants 2)  Atckison
c) Training of civil servants 3] Cormwallis
d) Classification of civil service 4y Macaulay
Codes :
a ¢ d
A 2 4 1
B 3 4 1 2
C) 4 3 2 |
By 4. 2 ‘3 4
x[701] [ Turn over

www.mntfreeias.com




PGRI

134.

135.

136.

137.

www.mntfreeias.com

44
gL e Seyendlallen Lg;ﬁ:tﬂmr‘rs-;aﬂésw sanalbms aEb@ Sl GoDUs smLrg 7
A) 50 " B) 25
C) 40 D) 30
The strength of Legislative Council members shall not be less than
A B0 B) 25
] 40 D) 30.
@hslu s #Husenoly sLsEfle Gnnaay few apenn Glumiud g
A @pdlu sywerts slub) 1935 dliEpg
D) USSR eflellmiba
C) MISA &6l
D) Qg Glanbin apdluesanoiy s sdleliodg.
Theemergency provisions of the Constitution of India was botrowed from
A) Government of India Acly 1935 B} USSR
C)  USA D) = ‘Welmar Constitution of Germany.

EbSlw snl Ll d) @IS B

Al gEidlomanmhg sae gl & B] 2 ciewowren sOUml &
C)  dreuerSHEU L s g A Dl Gupseamin oganbldeamea .
Indian Federalism is

A) centralised [ederation Bl purefederation

C) decentralised federation D) mnong ol these

UPSC e sy Gofilny usort| ey semi &) Lieef) gl
A)  Garey Bl pluwerb
C) ensmetlasd D)  ueiwigse .

The final work of UPSC in recruitment process is

Al selection B)  appointment

C)  certification D]  placement.

* [7o1]

www.mntfreeias.com




www.mntfreeias.com

45 PCKI
138. @bl sflumemniy sl -:E‘-{{FE‘ auflariy Gpdlapem Garlurlene
Gsftdasa Brndah
Al wésaniél sperissos epduBsmse .
B)  pe Seme SO0
O  pellpGarflen surpéams srdams s wisgase
D)  eueblesowren wrfle spsrisgas ghusgisd .
Directive Principles of Sm;e Policy were incorporated in the Constitution with a
view Lo
A).  ensuré Democrallc Governmient
B)  establish Welfare State
C) / raise the living standard of weaker sections
D provide astrong State Government, :
139, ugkerings) TreH semwliyse fiflsaers Sidlnb wirg. Smliig
A)  achent eufl Bl Glamgg el
€  syeris B D) | puy eufl ,
Panchayal Ra| institutions depend for funds mainly on
A).  Local taxes B) Property taxcs
C)  Governiment finances D) Special taxes.
140. aps 240 () Cad psens phissalisar groram Uryrespapsdle Cleran@
EUTLILIL L ST
A) 1960 B | 1963
) 1964 D). 1867.
In which year for the [irst time was no-confidence motion moved in the
Parliament ¥ .
A) 1960 B) 1963
C) 1964 ) 1867,
x |701] [ Turn over
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141. ucgue I ulgue Iea Gunwﬁgﬁ £@p Qar@astiu Gerer eRlHsamend:
G't&‘:l‘r:&umﬂ shlurer el somws CartGa®

UCig e I uCigwes II
a)  @yurs soeafla Bfans sElsmn 1) Article 56
bl  @suurs sesesufler ugalarenn 2) Article 55
) Guwr s gemeeut Gatadh 3)  Article 61
d  @Quwye soant ugpal K 4)  Article 53

) Article 54

GOHse

B
-5
o
(=R

A) 4 1 B 3
I3) 4 2 1 5

C)l 4 1 2 3
B} -0 : 5 3 2
Match List I with List 1T correctly and select your answer using the codes given
below ;
List I List 11
a) Executive authority of the President 1] Article 56

b}  Tenure of the President 2) - Artlele 55
c) Election of the President 3] Article 61
d) Impeachrnent of the President 4) ‘Article 53

5] ~Article 54
Codes :

A) 4 1 ] 3
B 4 2 i 5
C) 4 1 2 3
D 4 5 3 2

r[701]
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142. Jeneupasrsupenp aflens Ajovvrs Qsrean® euTa

A)  CBIl, ESMA, SSC, CAT B] ESMA, CBI, CAT, S5C
C) CAT, 35C, ESMA, CBI D}  CBI, CAT, SSC, ESMA .
Arrange the following items in chronological order :

A) CBI, ESMA, SS8C, CAT B) ESMA, CBI, CAT, SsC
C) CAT, S8C, ESMA, CBI D) CBI, CAT, S5C, ESMA .

143, uvtgue T p ulgud 0o d Cuighh, £8p CarRssiu Geto @iliGeeend
Clarem@ oflurer aflepcmug CartGia®

(NIRRT | uC g 11

al nsAl Ul gk 1) @hpafud e b wppd eflapen
bl  wrfler Ll gwés 2)  umgleniy
c) / Qumg ulgud 3]  Gurg Gapssn bibgh sroud
@O aef

a b c
A 1 2 3
B) 2 1 3
g 2 3 1
n 3 2 ¥
Match List I with List IF correctly and select your answer using the codes given
below :

List I List M

a) Undon 1ist 1} ' Criminal law and procedure
bh)  State List 2] Defence
¢] - Concurrent List 3]  Public order and police

Codes !

a c
Al 1 3
B) 2 1 3
Q) 2 1
D) 3 2 1

2 [ Turn over
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144,y saalls Carsrers 10 + 2 + 3 popew Sdlapatin@édius.

A Ol igely @mdlur B) aradlyEy
C)  dluw.e D) 2@.edos .
New Education Scheme 10 + 2 + 3 was introduced by
A) British India Bl  Congress
C) DMK D) AIADME.,

145. e @@ Clgen Ebflu po 2 flow shab gHUBSSOLL g 7
Al 1914 B] 1815
Q) 1916 1§ 1917.
In whichiyear wag South Indian Liberal Federallon formed 2
A) 1914 Bj 1915
C) 1916 o) 1917,

146, 1874 -5 ol e@n@ abg brfle syerisd oo sl ghirengang
©\smreimBeuh g 2
A) | giogp sneyt B) et
C) ~oadlpnGsein Dl spmrH. _
In the year 1974, which of the following Governments passed state autonomy
resolution ?
A)  Jammu and Kashmir B] Bihar
C). Uttar Pradesh )  Tamil Nadu,

147. gllpasdler Gurss TrewEn ﬁ_mﬂmﬁm
Al 12 Bl la
C) 16 D) 18.
The total strength of Rajya Sabha in Tamil Nadu is
A} 12 B} 14
C) 16 D] 8.

148. gilflpmicgé gasaals Al sos sfivpaliuBsduet urt 7
Al Eorgng B} @orusmd
C)  smogrs D} Qouedgm .
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Who was introduced the Kulakallavi Scheme in Tamil Nadu ?
A Rajaji B) Ramaswamy
C)  Kamaraj D) Jayalah-lhaa.
149, gbl{pmir 146 LTyTEhoeED gafl Qemedlaer asusuena o diarar ?
A) 4 Qgredles B) 5 Qgredles
C) 6 Qarsdlest D) @ argaybléme
How many reserved Parlimentary constituencies are there in Tamil Nadu ?
A 4 B) 5
c) 6 D) | Noue of these.
150. 1926- i 4@
A e Buphh ssuey sobbbhel
B) / ofle@bHlu sy s A\e winr® Cedraeritle noL GUHNE
C) (Flymeil et sl eunr LT & em -l BelUC L gl
Dl @ agiegbldamen.
In the year 1926
A]  Justice Party formed its ministry
H)  All India Congress meeting was held in Madras
C)  Dravidian Tamil weekly was staried
D)  None'of these.
151, usesoyl & sniGur e e hedTeg! 2
Al 1980 (it genf nssifc Bl 1950-h sum( wsshilé
C) 1970 -2 e i/ insEile D). 19808 2 auh wisilln.
The Green Revolution came ofl the scene around
Al mid 1960 B)" mid 1950
C) mid 1970 D} mid 1980.

152, pHssiGErens QUBSSD GiE & hHsw aryesl. SupeTe aaTer LmHpb ghuRFIDg 7

A Eub Guwiss B) dif 2 sal
C) Gummennary euatés D) Ges agabdome.
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Demographic pressure acts as a push factor in
Al migration B)  finaneial assistance
C} economic growth D) none of these,

153. L& @ongn. Og. Gedasur samaodora afl vradusniy ea atGurg
|OHELII L G 1

A) B meu, 1990 B Gleli_bur, 1992
C)  symeu’, 1991 D) geei, 1993,

Dr. Raja J.ChelliahPax Reforms Committee was Set up in

A)  Augusty 1990 Bl / Septembéiy, 1992
(] Aupust;, 1991 D]  Jung 1993.
154, ydlw Blgmflisn e dice s auCurg o marsaii 5. 7
Al gréoe, 1991 B) grdn, 1992
G) e, 1996 D) genaf 1994
Whenavas the New Industrial Policy announeed 2
Al WJaly, 11991 Bl June, 1992
C) “October, 1996 D) | January, 1994.

185. eupenipidein ey ubllu Leel] cdagimet sy semsdiupdng
Al e o8 (NAS) TR eftugriag - Cadlu samésgmet .
B).  aeh aou.ce. (NS.S) ysiel elleris et <luenn @ Gleoayss
C) "\ (A) o (B) eyl G7edn@i
D)  (@ee sgiephidoane
The incidence-of-poverty can be computed from
A)  NAS dataon national accounts
B} NS5 data on consumptlon of expenditure
C]  Both (A) and (B)
1) None of these,
156. beils sHNGLs GPss e s urerd euCurg nel Qubps: 7
Al 1970 B) 1972
) 1981 D) 1985

«[7o1
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The World Conference on Human Environment was held on
Al 1970 B) 1872
C) 1981 D) 1985.
wFHW wraEsHsl Hour @ eurflub abs SR SEDESUULL G 7
A) 1989 B) 1985
C) 1981 D) 1991.

The Central Pollution Control Board was set up in the year

A) 1989 B 1985
C) 1981 D) 1991,
158, cuen alleii@ urgedilh FILD s aul e gaimdaiiut. g 7
A) 1970 _ ' B} 1972
C) 4 1990 D) 1986.
The Wild Life Protection Act was formulated in the year
Al 1970 B) 1972
© 1990 ' D) 1986.
159, siflppmige, 2001-b sycg e oéEaaOErE AeTh@ULIG FHa wranl Lh sfls
& ST i TEE] T L Wg 7
Al seneiutgot] "B fEasigsait
C)  sLsymit D) _ Geueynt.
In Tamnil Nadu, the district with highesi density of population
is (as per 2003} Ceénsus)
A) Kanniyalkumari B] © Thiruvalluvar
C) Cuddalore D) | Vellore.
160. @ndu serellés glipabwisatasranlis shs pevells ¢ sag 7
Al syprib @b B) apspmd @)L
C) uskard @b D) misTh GLb.
In population among the all states in India, Tamil Nadu occupies the
A)  sixth position B}  third position
C) tenth position D) fifth position.
3 [ Turn over
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161. sillpaggldn wasaGETens, 20010 Sicnf seRThGUUE aaausTa ?
Al 62.4 Bleelue Bl  60.3 dleseSlus
C) 64.4 (Hléuedlein D) 61.5 Aéetiudr.
The population of Tamil Nadu was {as per 2001 census]
A) 62.4 million B]  60.3 million
C) 64.4 million D) 61.5 million.
162. @hdlur sjerallé siblpsio aaphaPiallss eps Hlevenilss 2 efreng 7
A) g6 LMD (BjL-(b B) b @)
C)  uflapeiprib &b D). ugsrd Geb.
In literacy among the all states inindia, Tamil Nadu occuples which position 7
Al Ninth posilion Bl Seventh/position
C)  Thirteenth.position D)~ - Tenthposition.
163. @ihdlu Ggm..ﬂu; m. e silflown O ke ohg abliiy Sumfle Giawng) ?
A) | mrdvbwe (o8l B). .. Gey@rn sy
C) | @b sl Gney sy D) Quisgrgen abiig.
Which cammitiee has recommended the establishment of MNational Co-operalive
Bank of India ?
A) Narasimhan Committee Bl AM, Khusro Commitiee
C) | Indian Co-operative Comuiittee D)  Rangarajan Commitfee.
164. glnd, 1935 @bgiu flsdel aubid] Qgm-dsuCL Curg sise (paai@-{Capital)
Al 15 Cemg B) 5 Ganyg
C) 108smy D} 70sng.
The RBI was inaugurated in April 1935 with a share capital of
A} 15 crores H).) 5 crores
C) 10 crores ) | Yerores.
165. UTI - GpmLisurL e
A dogeufl, 1974 Bl dugeufl, 1964
C) wrirE, 1970 D] ganut, 1960 .
The UTI was formally established in
A)  February, 1974 B) February, 1964
C) March, 1970 D) December, 1960.
www.mntfreeias.com
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166. s ﬂl.;gﬁlem genemsdll L bre e Sadlusr HNompgadr il

Clam malul L &7 :

Al pest g subled b

B}  evaupen Qgupdl fyme svalrrget Hiio

C) Ggflu dlgroiyp Ceuser eurdity i

D) CGeuema cumliy e gflreursd FCLb

The Million Wells Scheme was launched as a sub-scheme for

A)  Jawahar GramSamriddhi Yojana

B) SwarnaJayantl Gram Swarojgar Yolana

C) Natfonal Rural Employment Programme

D)  Employment Guarantee Scheme.
167. Lréit L.C. glgr G ahs Cleudumt el saeliugher s pluilflsebu g 1

Al ub@sshag B) srudlips seQuaflsed

Q) ' euele sulidlamei D) Hf Floeuariaeie cuetsdl.

Dr. L.C; Gupta Committee was appointed to look inte the working of

A]l _Stock exchange B) = ‘Insurance companies

C) Commercial banks D) | Development finance institution.
168. @)hdlu gmwﬂu@, Bbdiu spdunemciy sl_gdler abs il afler gip Nflssaane

Bl &t 2

Al ey 320 B) ey 280

C) . Ofley356 . D) -Sfley 325.

Under which Provision of the Article of the Constitution, the President is
required (o appoint Finance Commission ?

A) Articlen 320 B} Artcle 280
C]  Article 356 D) Article 325,
169. wrfles Gigmifles Sriumub wreny sstenuss) & sterg 7
A) o ds gdloanp FHug B) =2 és5 fglndip gemeann BElUL
C) wwh pdlosp gElugl D) wraull Qsayeray dElugfl.
The industrial tribunals are consisted of a person of the rank of
A} Supreme Court Judge B]  Chief Justice of Supreme Court
C)  High Court Judge D)  Sessions Court Judge.
x | Turn aver

www.mntfreeias.com




www.mntfreeias.com

PGHI 54

170. @hlunales Guyeney Camfiperoasdis Blaad LpmouTeTE

Al @Gy aske Cprfibsrae B) ussd s Qanfiperon
C) samé Ggmfiherame D) srdlg Qamfiherae.
The oldest large scale industry in India is
A) Tron and steel industry B) Cotton textile industry
C) Jute industry D)  Paper industry.
171, Sipg sweae praflsgdle Ganpaps BeTh e
A Gerggen B) _ sreflutisd
C)  apul D) /. QufsgsesrErm,
Which was the port town of the Indus Valley Givilization ?
A)  Lothal @) - Kallbangan
C)  Ropar D) Mohenjodaro.
172, NéCealg Hambamybblen i Sy ey
A) | Slpglc mlens LTS HEN &g
B)  ugpémil hpib e L)
C)  Slis ueheTBETHE
D) Spa cpnb sergdipe Gl iurt LGS«
The main locus of the Rigvedic-culture was
M) the Inde-Gangetic Valley
B) the Punjab and Delhi region
¢) theIndus Valley
D) the region berween the Swat and the Indus.
173. dibssai qurdRuisener s ©
apry (A):  sfeTE 1905 & aneradeos IfasTt
sirgemns (R): St Caflu e sypes alpbienf
£Cyp GPILI - Beien RS g é sflurer alloLmus Catibis0 :
A (A R b el Reaug (A) Sipe efiurar allsTés.
B) (A sfl syeme (R peup.
c (A)k ® b sfl. ggeme (R) aaiug (A) eSpe sflures allerébal S,
D) (A whpo (R &9 @O SOUpTETENE.
(701
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Consider the following statements :
Assertion (A) :  Curzon partitioned Bengal in 1905
Reason (R) : He wanted to destory nationalistic unity.
Now select your answer according to the coding scheme given below :
A) Both (A} and (R} are correct and (R} is the correct explanation of (A)
B) (A} is correct, but (R) is wrong.
C} Both (Aj and (R}are corregl , but (R) is nol thecorrect explanation of (A)
D) Both (AJand (R} are wrong,
&\ héreretors umdEl ik enet 5 euad)
SOl (A) D WeuT st sunsl gt ot .;;,i'_éfi & oo dlds @gﬁapﬁlmuraﬁ!ﬁ;@ M 11T

amy@ond (Rl oeuflen wddly Crrénd ubs Symiliimaen el Gerictor@in
seiuGs.

&8 @Bl Geien Pl ne sfufrer dlen.eme CotpOEE :

A (AMD (Rpvefl, (RN e dug (Al alide efliren ollardain:

B)  (Ahb R adl. guenre (R e (A) el s Huren eflerd s i
A s e [R) ey

D). {A) whorn (R} Brem@in s ln erena.

Consider the following statements :

Assertion (A) : Hiuen Tsang came India during Harsha's rule.

Reason (R): ' Hiswmain obfective was to visit Buddhist shrines.

Now select your answer according to the coding scheme given hclm-.\r :

A)  Both (4) and (R] are correct and (R} is the correct explanation of (A)
Bl Both (A} and (R} are correet, but (R} is Aot the correct explanation of (4)
C) (A} is correct, but (R} is wrong

D)  Both {A) and (R} are correct .

ey ebond erapdlug w2

A Guelkdlinrg sirent B]  usdlb spdly ssGamudlumur
C epalbst D) ovamaer ghsm.

% | 701 [ Tum owver

www.mntfreeias.com




www.mntfreeias.com

PGEI ] Bb

Who wrote " Ananda Math' ?

A) Rabindranath Tagore

B) Bankim Chandra Chattopadhyaya
C) Aurobindo

D) Madhusudan Dulla.

176. uCigwéd I @ utgué Mo Gurmsdl, £Gp Can@aaiufefrer @B (5 e eoen &
Qanetor® sfures afenewd Cetits® -

L igwes X Ul we I
srmdly ey peneeurtsel Blopb g Bi

a) orite =) 1) eosmmiimg 1888
bl LmaLtSt S s 2] eukBanr 1898
) o Giusens 3] sdsder/1A1T7
d)  a@ymebled] Hmyd 4)  smsiyt 1928 .
@Pdfsen :

a b N
AV (2 4 1
B) 1 2 3 4
C) N 4 4 2
D) (2 4 3 1
Match-List T with List II correctly and seleet your answer using the codes gdiven
below &

List 1 . List II
President of Congress Place and Year

a) Geofge Yule : 1}» Allahabad, 1888
b) Dr RC Daita 9) Aucknow, 1899
cl Anrie Besant 3) \ Calcutta, 4917
d) Sarvjini Naidu 4] - Kanpgr, 1928.
Codes :

a b C d
A) 3 4 1
Bl 1 2 3 4
& 1 3 4 2
D) 2 4 3 I;

x
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177. syudAGautser shsEhoLL Spuwbd @idluralés ghu@ss wrfli sguoglemuls
Glubmentt 1
A) Sugh Lt B) sgapradt
C) egT@aTe D) @mqrﬁaaa?u ;
The British received permission to establish their company in India from
A)  Akbar B) Jahangir
C)  Shahjahan D)  Aurangzeb.
178. ‘@aenfl Qeenyr sbusus auCurays Hepheg 7 '
A) 1920 Bl | 1923
C) 1922 3} 19214
When did the 'Chaurl Chaura' [ncident take place ?
A) 1920 _ B} 1923
C) 1922 Dy 1921,
179. sis sraidd Gurt sflaliy sies alesest
Al Loaselen aures o] Clal (e
B) umaseilsn alletis e stz
Q) uveameuae Garl e e enmi HipiGHe.
D) | wrewe e erars Les s llitama syflssd.
During the Sangam Age. war was usually declared or provoked by
A)  cutting'the tutelary tree of the enemy
B)  lifting the cattle of the cnemy
C) besieging the enemy's fort
D)  crushing the erops of the-enemy’s territory under the feet of elephants.
180. @it prev wergemsmL oG ITANE 2Bl SHuC L3 7
A) 1883 Bl 1882
C) 1884 D} 1886.
. When was the Madras Mahajana Sabha formed ?
A) 1883 B) 1882
C) 1884 ) 1BE6.
x| 701] [ Turn over
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181. Spsacn_obfle ag faab QUIGESSLTES ?

A Gamen SUEHLLT(H — cremonfifams g UL W sllsuid
Bl Q@rof susmslur(® — sregbigrLt alleuyb

C) oaonoxidams uemasiium® — usd alleunib

D) &0 susm&Lun(m — sl mihdly alleugh .

Which one of the following is correctly matched ?

A) Geographical classilication —  Value based data
1) Chronological classification —  Time series data
Cl Quantitative classification - Area wise dala
™ Qualitative classificalion — \Yearly data.
184, fﬁ{pﬂ-{nfﬁmn_sumilﬂb o O afureng 2
Al G e - .ﬂ@m& gwimit| kg e
B) @smupé — wafllg sz AR
C) [ Geurfy dul_ - ameshl & sesod s
D) adiGlave - L g WebliRs &0
Which one-of the following is correctly matched ?
A)  FORTRAN — Typing a text
B) COBOL —_ Mathematical calculations
C) WORDSTAR = Business caleulations
D). EXCEL - Tabulation.

183. uligué T g ulgué Ha L Ourgsdl, 40 CQar@ésuu @stsr G e e
. Qenain () sfurer Meslerws GaipliaE

L gtds I ulgwe I1

al o A&kl 1) seevd Gamfiluet
b) s Blevegeiet eflaurh 2) ) aFeucs Gmueut “
c) ST TaT 3] | mEmoues Gawﬂuq
dl  @ussarss 4]  wasEhed
ebiGse :

a b = d
A 1 2 3 4
B) 2 3 4 1
C) 1 3 2 -4
D) 2 + 1 3.

¥ 701
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Match List I with List II correctly and selecl your answer using the codes given
below :
List I List 11
a) Respondents 1) Person collecting inlormation
b) Primary data 2)  Person giving Information
. €) Enumerator 3) Collection of data

d) Census 4} First hand information
Codes :

a b c d
Al 1 2 3 4
Bl 2 3 4 1
Q) 1 3 2 4
D /2 4 | 3.

184. P(A) = 0.6 wpgils PB)=0.5; aefld fpdscs.mppet a5l & I 6ol i1
A Avhpb B gflust elless Bepaes
B)  Awchgn B siflua alless] 6\ peyset
¢ C) Auvpoib B gyflue Hnuydlspajs
D) @qmm e gepblésenay .
If P(A) = 0.6 and P{B}= 0.5, then which one of the following, is correcl ?
A) A and B are mutuallly exclusive events
B] A andBarenot mutuallly exclusive avents
C] A and Bare coniplementary events
D) None of these.

185. 10 &@h 30 &5k G@L B o_eTeT LGT SlmeT fEgemar 7

) A7 B 4
C) b5 D] 6.
: How many prime numbers are there in between 10 and 30 7
Al 7 B) 4
C) 5 D] 6.
x[701] ' [ Turn over
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60
seaiallle o dGaraul. LhHph 6 Guar au’ wonCu aaheés solb
A} 1000 evulseh whpun 100 SGamanul sefr
Bl 1024 enul st whmbs 1000 flGerau set
C) 1000 s selr whmbd 10000 enLi’ sef
D} 1024 epi meft nphpd 100 ACeorenun’ seir
In computers, 1kB and 1MB are respectively equal to
A) 1000 bytes and 100 klobytes
Bl 1024 bytesand 1000 kilabyles
C) 1000 bytes and 10000 bytes
D) 1024 bytes and 100 kilobytes.

Awppid Ben Guorgg aum sHéurs 110 GEnug auptsdihg apary et aef s
auwgl allflgo 4 @ Jeaflcs Ad cuug

A) | 80 B) . 55
c) 50 BY 7T 35.

The suprof the ages of A and B is now 110 years and their ages 20 years ago
were In the ratloof 4 : 8, The age of A is

A). 60 Bl &5
C] 50 D) a5.

188. x= ;ijy wihHplh Yy = éz erafles Xy ;2 S 60TET Sl
A) 1:4:5 LA s 5
Q) 1:0%4 DY 1:4:20.
= i yand y= 51 z then x !y zis equal io
Al 1:4:5 E) daagPT 5
C) l1:5:4 8| 1:4;20.

189. ety sugliflgyeter wremeut setler alldlsorag 2 : 3: 5 o6 2 ereng. qaGeaurt
cugllepn 40 vrematsa siflsflaah Cury alldlsurarg 4 : 5: 7 oys wrlyaterg
aaflés Guaurs Gurgs wremeatssild & samsuras)

A) 100 Bl 180
C) 200 D] 400,
x
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“the students in three classes are in.the ratio 2 : 3 : 5. If 40 students are
increased in each class, the ratio changes to 4 : 5: 7. Originally, the total

number of students was
A) 100 B) 180
C) 200 13 400.

Sebreumseuemeupmet apsbeursip) gflure GQUTEbSHDE 7

A) 1235 e vl

B GOD — wmHiedl

) A+B — Eaniame)

D) A# 50 — ienadligy wrfled.

wWhich oneof the following is eorrecty matched ?

) 123.5 — variable

B) GOD — Cornstant

¢ A4DB — Expression

D) A+50° —_ Logical constant.
. 100 - &g, 120= @ el Cuueien LT & i E el SaBBes Lrg). 7

A) 424 B) 533

C) 648 ' D) 6By

What is the sum of all prime numbers between 100 and 120 ?

A) 424 B) 533
c) 648 D) * 630.
102, bl 3 Gonssiul— Denaudics | 21,128, 36, 45 gy EhuauPmm e Fdilendl augu@D
Aaégaphy oo UTER
Al 420 Bl 1257
C) 1260 D) 1263.
The smallest number which when diminished by 3 is divisible by 21, 28, 36 and
45 is
A) 420 B 1257
c) 1260 D) 1263.
x [701] [ Turn over
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193, mep samssilsn alldlanssr 35 ; 55 : 77, ssupPler BLGuE GurgssTrest 24
arefley et aat WTenea 7
A) 420, 660, 924 B) 280, 44(&1. 616
) 840, 1320, 1848 D) 106, 1656, 231.

The ratio of three numbers is 35 : 55 : 77 and their HCF is 24. Then the
numbers are

A) 420, 660, Y24 B 280, 440, 616
C) 840, 1320, 1848 i) 105, 165, 231.

194. G suEulley 60 wratertse o eat. g aflabSla Z5% wraosutssn Gutéd
Glupaildenes. 453 wrasreut et | siflalluelis Calsd Gupaldme sreafld @ edmim
unL fusefigib Gats s Qupn s oramant set apgmen @ut 7
Al 5 B 6
Cl & Dy 12,
There are 60 studente’in a class. In an-examination 75% of them had fatled In

English aned.45% of them had [ailed (n Selence. How many had falled both in
English and Science ? '

A) 5 Bl 6
] 8 Dj 12,
195. (pses mbs LeT GasIasie rre s 7

A) 5.0 B) 5.2
C) B5b6 D) 6.0
The average of the lirst five prime numbers is

A 5.0 B} B.2
Q) 5.6 0y, 8.0

196. 4% & @ sl oipgdld Bgand cunpbinelld i5.1:8352 54&% squ Qgransullen
w&lly ereeat 17

Al 1300 epurhs Bl 1200 epuri
) 1250 Uil D) 1260 sxumid,

A sum ameunts to Rs. 1,352 in 2 years at 4% compound interest. The sum is
Al Rs. 1,300 B} Rs. 1.200

C) Rs. 1,250 D} K= 1.260.
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197. gy ULG Flenure [Bie: weflae 15 8.8 Casgfle Grandipg. waflag 3 £
Caspdlies FOrmeLn 2 eters eafle 12 Pl assilea HErriL Flanslld L@
Glacveuianig Ll ETHD

A 3.6 481 B 2444

C) 1544 D) 18488,

The speed of a boat In still water is 15 km/hr and the speed of current is
3 km/hr. The distance travelled downstream In 12 minutes is

A) 4.6 km B), 2.4 km

C) 1.5km Oy CAB/km,

198, samafory Cuie susb 19 oLig @il Lg nppo Qs 9 wLbE
GremilemL gy e eiley sanafogl Guid 16 wLmig seow Ujsfer @)a allgy
= Gounsilsears Gatgg mgpourédlu 2 Core smsmanlle @ihs GConshiss ahi
allflsghie Gunbeb 7 ;

Al 2 295
C) 3.2 D) 49§ 185
Gold [s 19 times as heavy as water and copper is 9 times as heavy as water. The

ratio, in which the two metals should be mixed, so that the mixture 18 15 lLimes
as heavy as water, 18

Al ) (. B] #2773
o) \3:% D] 19:135.

199. @ Gomeerw 3 s@mewmd, 4 fparsesd 8 pricsefle gpyiurtaer. 24Gs
Gammmu, 4 elansgph 4-fpaisepd 6 prisslsd wRiurtsel aafld 2
syemead 4 fgatemh St appame L sefle apglurtest 7

Al 10 mrlgef Bl 12wl sai
C) 15 mirl &elr D) 16mmosern.

If 3 men and 4 boys can do a work in 8 days while 4 men and 4 boys can do that
work in 6 days, then 2 men and 4 boys will finish it in

Al 10 davs B} 12 days
C) 15 days )] 16 days.
X 701j | Turn over
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200. Gy wrdiflurer Qsudur@smed @sursn@ &8P sroul@sfren ULt of ) gyeiram
a@mse Gildsiulird all@ul L eredor wrg?

o

3

A E
A) 320 B) 274
C) 262 D) - 132

If same palterns of operations are followed in all the three dlagrams given below,
then the missing number Is

) R "o
\"\ /" “\\/
131 248
4
B C
A 320 B) 274
) 262 ) 132.
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